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Q1) Attempt any two parts of following : [2 × 5 = 10]

a) A voltage of 100V 50 Hz is applied to a RL series circuit having resistance of  4 and inductive reactance of 3
respectively. Calculate current voltage across resistance power factor active and reactive power of circuit.

b) What is resonance in series RLC circuit? Write condition of resonance and define quality factor.

c) What is power factor? Explain the practical importance of power factor in ac circuit.

Q2) Attempt any two parts of following : [2 × 5 = 10]

a) Draw delta and star connection and give relationship between phase and line voltage and currents in both delta and
star connection.

b) Compare three phase and single phase supply on any 4 points.

c) Explain the principle of operation of a single phase transformer.

Q3) Attempt any two parts of following : [2 × 5 = 10]

a) Explain the construction and give applications of an auto transformer.

b) What are the different losses occur in a transformer? For what losses determination the open circuit and short circuit
tests are performed?

c) Define regulation and efficiency of a transformer. Explain why efficiency of a transformer is higher than other ac
machines like induction motor?

Q4) Attempt any two parts of following : [2 × 5 = 10]

a) Draw a neat cross-sectional diagram of a 4 pole dc machine, make a list of different parts and give function of any two
parts.

b) What is back e.m.f, explain the significance of back e.m.f., why it is called self acting governor?

c) Describe in brief, the various methods of speed control of d.c. motor.

Q5) Attempt any two parts of following : [2 × 5 = 10]

a) Explain construction and working of single phase capacitor start, capacitor run induction motor.

b) Explain the working principle of a synchronous motor.

c) Write short note on starters for induction motor.

Time : 2.30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions. Answer any two parts from each question.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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ZmoQ> : ZmoQ> : ZmoQ> : ZmoQ> : ZmoQ> : g^r àíZm| H$m CÎma Xr{OE & àË`oH$ àíZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE &

à.à.à.à.à.1) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) EH$ {garO RL n[anW na 100 dmoëQ> 50 hQ>©²O H$m dmoëQ>oO XoVo h¡, à{VamoY H$m _mZ 4 Amo_ Am¡a B§S>pŠQ>d [a`oŠQ>oÝg H$m _mZ 3 Amo_ h¢& à{VamoY R
na dmoëQ>oO Ymam, nmda \¡$ŠQ>a, EpŠQ>d nmda Am¡a [a`opŠQ>d nmda H$s n[anW Ho$ {b`o JUZm H$a| &

~) EH$ {garO² RLC n[anW _| AZwdmX (aoOmoZoÝg) Š`m hmoVr h¢? aoOmoZoÝg H$s eV© {b{I`o Am¡a Šdm{bQ>r \¡$ŠQ>a n[a^m{fV H$[a`o &

g) nmda \¡$ŠQ>a Š`m hmoVm h¡? E gr g{H©$Q> _| nmda \¡$ŠQ>a Ho$ ì`mdhm[aH$ _hËd H$s ì`m»`m H$a| &

à.à.à.à.à.2) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) S>oëQ>m Am¡a ñQ>ma H$ZoŠeZ ~Zm`o Am¡a S>oëQ>m Am¡a ñQ>ma H$ZoŠeZ XmoZm| _| \o$µO Am¡a bmB©Z dmoëQ>oµO Am¡a H$aÝQ> Ho$ ~rM H$m g§~ÝY {b{IE &

~) W«r \o$µO Am¡a qgJb \o$O H$s VwbZm {H$Ýhr Mma {~ÝXþAm| na H$ao &

g) qgJb \o$µO Q´>m§g\$m_©a Ho$ H$m`© {gÕm§V H$s ì`m»`m H$a| &

à.à.à.à.à.3) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) EH$ AmQ>mo Q´>m§g\$m_©a Ho$ {Z_m©U H$s ì`m»`m H$a| Am¡a CgHo$ AZwà`moJ ~Vm`| &

~) EH$ Q´>m§g\$m_©a _| {H$g Vah H$s hm{Z`m hmoVr h¢? {H$Z hm{Z`m| H$mo nVm bJmZo Ho$ {b`o AmonoZ g{H©$Q> Am¡a emQ>© g{H©$Q> Q>oñQ> {H$`m OmVm h¢?

g) Q´>m§g\$m_©a H$m ao½`wboeZ Am¡a XjVm n[a^m{fV H$a| & g_Pm`o H$s Q´>m§g\$m_©a H$s XjVm AÝ` E gr _erZmo O¡go B§S>ŠeZ _moQ>a go Á`mXm hmoVr h¢?

à.à.à.à.à.4) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) EH$ 4 nmob S>r gr _erZ H$m ñdÀN> AZwàñW H$mQ> AmaoI IrqM`o, {d{^Þ ^mJm| H$m gyMr ~ZmE Am¡a {H$Ýht Xmo ^mJm| H$m H$m`© ~Vm`| &

~) ~¡H$ B© E_ E\$ Š`m h¡? BgHo$ _hËd H$mo g_Pm`o, Bgo goë\$ EpŠQ>¨J JdZ©a Š`m| H$hm OmVm h¢?

g) S>r gr _moQ>a Ho$ J{V {Z`§ÌU H$s {d{^Þ {d{Y`m| H$m g§jon _| dU©Z H$s{O`o &

à.à.à.à.à.5) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) qgJb \o$µO H¡$no{gQ>a ñQ>mQ>©, H¡$no{gQ>a aZ B§S>ŠeZ _moQ>a Ho$ {Z_m©U Am¡a H$m`© àUmbr H$s ì`m»`m H$a| &

~) Vwë`H$m{bH$ _moQ>a Ho$ H$m`© {gÕm§V H$mo g_PmB©`o &

g) B§S>ŠeZ _moQ>a Ho$ ñQ>m©Q>g© na g§{já {Q>ßnUr {b{I`o &




